
Like term: Same Letter(s), Same Exponent(s).

4𝑥ଶCoefficient = 4

Letter/Variable/Base = 𝑥

Exponent/Power = 2Coefficient: a 
number in front 
of (multiplying) 
a variable

Variable: a letter

Exponent: 3ଶ = 3 × 3
                    5ଷ = 5 × 5 × 5

Term: Like Terms:

2    … … … …  1, 5, −12, 4, 5, −6, … .
𝑎    … … … … 4𝑎, 2𝑎, −5𝑎, 4𝑎, … .
𝑥𝑦  … … … … 2𝑥𝑦, − 3𝑥𝑦, 4𝑥𝑦, …
𝑎ଶ   … … … … 𝑎ଶ, − 2𝑎ଶ, 3𝑎ଶ, 4𝑎ଶ, …
𝑥ଶ𝑦 … … … … 2𝑥ଶ𝑦, −3𝑥ଶ𝑦, , …

𝑎 + 1 = 𝑎 + 1 You can only add and 
subtract like terms.

Leading Term: The Term with the Highest Degree.
Degree of term: The 
Variable Exponent or Sum 
of Variable Exponents.

Degree of polynomial: Degree of Leading term. 

𝑥ଶ            … … … …     2

𝑥 = 𝑥ଵ    … … … …     1

𝑥ଶ(𝑦ଷ)   … … … …     5

8 = 8𝑥଴  … … … …     0

Degree:Term:
Polynomial: Leading Term: 

𝑥ଶ − 4                     … …  𝑥ଶ             … … …    2

2𝑥ଶ − 5𝑥ଷ              … … − 5𝑥ଷ        … … …    3

√3
⎯⎯ 

𝑥 + 2                 … … √3
⎯⎯ 

𝑥ଵ         … … …    1

2ିଷ𝑥ଶ𝑦 + 2𝑥 + 2 … … 2ିଷ𝑥ଶ𝑦ଵ   … … …    3

Degree of 
Polynomial:

You cannot add or 
subtract unlike terms.

Polynomial: Any #

Monomial: One term. 

Binomial: Two terms.
Trinomial: Three terms.

2, 𝑥, 𝑥ଶ, 2𝑥𝑦, 5𝑧, 10

Examples:

𝑥 + 2, 𝑥ଶ − 4, 𝑥𝑦 + 5, 3𝑥ଶ + 𝑦ଶ, 2𝑥ଶ + 𝑥

𝑥ଶ + 5𝑥 + 6, 𝑎 + 𝑏 + 𝑐

2, 𝑥 + 2, 𝑥ଶ + 5𝑥 + 6, 𝑎 + 𝑏 + 𝑐 + 𝑑 + 𝑒

Polynomial: Terms with Variables with Whole Number Exponents. (ie. 0,1,2,3…)

Numbers have a degree of "0"

Leading Coefficient: Coefficient of Highest Degree Term

𝑥 + 𝑥ଶ = 𝑥 + 𝑥ଶ

2ିଷ =
1

8
⎯⎯

√3
⎯⎯ 

= 1.73

Polynomial:
Monomials, Binomials, 
Trinomials and more 
than three terms. 

Not Polynomial

𝑥ିଶ, 𝑥గ, 2௫,
1

𝑥
⎯⎯, √𝑥⎯⎯ , 𝑙𝑜𝑔𝑥, 𝑠𝑖𝑛𝑥
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